Chapter 5 Quiz   A   Sections 1 - 2 - 3                       Name_________________________________________


Your instructor expects to see neat, readable, organized work using the GUESS method.

1.
A rocket with a mass of 5000 kg accelerates upward. What force must the engines exert on the rocket so that it will accelerate upward with an acceleration of 25 

?
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2.
A 7 kg and 4 kg block on a level, frictionless table is connected to a 6 kg mass by a rope passing over a frictionless pulley. (a) What is the acceleration of the masses when the 6 kg mass is allowed to fall? (b) What is the tension on the rope between the 7 kg and 4 kg mass?  (c) What is the tension on the rope between the 4 kg and 6 kg mass?

a.
_______________
b.  _______________

c.  _______________

3.
A box is given a shove. It slides across a table, eventually coming to stop. If its initial velocity is 4.2 m/s, and the coefficient of kinetic friction between the two surfaces is 0.25, how far will it travel across the table?

4.
A 62 kg lady is standing in an elevator on a set of spring scales calibrated in Newtons. Suppose the elevator accelerates upward at 2.5 m/s2. (a) What will the scale read? (b) If the elevator accelerates downward at 2.5 m/s2, what will the scale read?


a.
_______________
b
_______________
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